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ERAMFIMERE  (10.35m * 28.35m & LTEH)

M b5k 100m* Y & H "
S2&ME $2.0 * 50 * 50 140m2 100m2 * 1.4 = 140m
PN =P ¢16 * 400L 304 37/10m * 100m = 304
INE ®9 * 200L 1507 157%/10m? * 100m = 1504
HEEE 10.0m / 2.0m + 1 = 64K
67 * 28.35m * 2K = 340.2m
L7 D10 145. 3kg SR 28.0n / 2.0m + 1 = 15K
15K * 10.35m * 24 = 310.5m
{(340. 2m + 310.5m) * 0.56kg/m} / (10.35m * 28.35m) * 100m * 1.17 = 145.3ke
EXRITIAT DERET %,
F7oh— D16 * 750 3K fit 6777 * 4% 15477 = 9047 FF
904 fF / (10.35m * 28.35m) * 100m = 31
F524 K REREFES 28.0m / 2.0m * 2 * (10.0m / 2.0m + 1) = 168{@
Z;},f;a 350 * 150F8 10918 HEFEEFAES 10.0m / 2.0m * 2{8 * (28.0m / 2.0m + 1) = 1508
(168{& + 15018) / (10.35m * 28.35m) = 100m = 109{E
PRMRE 163 / 360 * 7 * 0.1772 - 0.35 * (0.177 - 0.15) / 2 = 0.0398m?
Fel 10.35m * 154 + 28.35m * 64 = 325.4m
ﬁ"fuj’z';q?"' b350 * hi50 4. 06m REEFEIBRAER 0.0116m/1 77 (3RITCADIZ & Y EH)
0.0115m® * 64 * 154 = 1.04m’
100m224 1) A% (0.0398m * 325.4m - 1.04m) / (10.35m = 28.35m) * 100m* = 4.06m*
_ 2 A = 2
BT 64. 9 0.35m * 325.4m — (0.35m)2 * 64 FF * 154 = 102. 87m

100m? - {102.87m? / (10.35m * 28.35m) * 100m?’} = 64.9m?




